WORK DETAIL

Work Name:- Estimate for construction of base for already existing open gym and canopies in ward no 34 MCG

Work Code	GUR01220210105134431
Work Type	Horticulture
Work Sub Type	Horticulture
Work Created Date	1/5/2021 1:44:31 PM
MC Name	Gurgaon
Ward No.	34
Work Quantity	1
Financial Year	2020-2021

Scheme Name	MC Fund
Scheme Component Name	MC Fund
Total Amount (Rs.)	962054.71
Announcement Date	
Announcement Type	Others
Announcement No	
Status	Pending For Technical Approval

REMARK

Remark	Remark By	Sent To	Remark Date	Status	Download File
Submitted for administrative approval please	Deepak Kumar	Devender Kumar	2/12/2021 2:53:17 PM	Pending For Technical Approval	No File

Remark	Remark By	Sent To	Remark Date	Status	Download File
submitted for technical approval please	Himanshu Rao	Deepak Kumar	1/29/2021 12:10:09 PM	Pending For Technical Approval	No File
Approved	Rajesh Garg	Himanshu Rao	1/19/2021 4:14:33 PM	Financially approved	No File
Submitted for approval please	Parveen Saini	Rajesh Garg	1/19/2021 3:51:46 PM	Pending For Financial Approval	No File
Fund Allocated to the tune for Rs 962054 from M C Fund under the Head 410-23 Sport and health park and ground play material out of approved budget for the year 2020 2021 Subject to approval of competent Authority	Rajesh Gupta	Parveen Saini	1/19/2021 3:26:11 PM	Pending For Financial Approval	No File
For Necessary action	Parveen Saini	Rajesh Gupta	1/19/2021 2:17:00 PM	Pending For Financial Approval	No File
For Necessary action	Rajesh Garg	Parveen Saini	1/19/2021 9:36:55 AM	Pending For Financial Approval	No File
Submitted for financial approval please	Devender Kumar	Rajesh Garg	1/18/2021 4:38:25 PM	Pending For Financial Approval	No File
submitted for financial approval please	Himanshu Rao	Devender Kumar	1/11/2021 4:50:13 PM	Pending For Financial Approval	No File
Approved as proposed	Hariom Attri	Himanshu Rao	1/6/2021 5:08:30 PM	Administratively Approved	No File
Approval to be granted by JC-III	Raman Sharma	Hariom Attri	1/6/2021 1:43:52 PM	Pending for Administrative Approval	No File

Remark	Remark By	Sent To	Remark Date	Status	Download File
estimate amounting to Rs 962055 is submitted for approval please	Devender Kumar	Raman Sharma	1/5/2021 4:50:23 PM	Pending for Administrative Approval	No File
Estimate has been prepared as per demand of Councillor. Submitted for approval please	Himanshu Rao	Devender Kumar	1/5/2021 1:56:01 PM	Pending for Administrative Approval	No File

WORK ITEMS

ltem	Remarks	Numl	ber	S	Length	Breadth	Height	Unit	Qnty	ltem Type	View	Actions
10.k.2	for gym	12.00	-	-	10.00	6.00	0.10	cum	72.00	+	No File	
14.k.2	for gym	12.00	-	-	10.00	6.00	-	Sqm	720.00	+	No File	
10.k.2	for canopies	3.00	-	-	3.14	9.00	0.10	cum	8.47	+	No File	
14.k.2	for canopies	3.00	-	-	3.14	9.00	-	Sqm	84.78	+	No File	
6.b.i.a	for open gym in dlf 1, 2 ,sec 42, saraswati vihar	12.00	-	-	10.00	6.00	0.30	cum	216.00	+	No File	

Page 1 of 2. 1

2 (/AssociateProject/AssignProject?q=r%2FI3S%2BVZ5t1LsDXaFuxvfngh%2FI5vXIF9)

» (/AssociateProject/AssignProject?q=r%2FI3S%2BVZ5t1LsDXaFuxvfngh%2FI5vXIF9)

CALCULATED ABSTRACT

ltem Code	Description	Unit	Rate Type	Rate	Premium Rate	Total Rate	Quantiy	Amount
6.b.i.a	6.6-Earth work in excavation in foundations, trenches, etc. in all kinds of soils, not exceeding 2 metres depth including dressing of bottom and sides of trenches, stacking the excavated soil, clear from the edge of excavation and subsequent filling around masonry, in 15 cm layers with compaction, including disposal of all surplus soil, as directed within a lead of 30 metres.	cum	Labour Rate	1108.10	425.00	58.17	241.43	14045.25
10.k.2	10.117Laying dry brick ballast (40 mm gauge)	cum	Through Rate	121.20	450.00	666.60	80.47	53641.30
10.e.1	10.63Design mix cement concrete of grade M-10 with minimum cement contents 220 kg/cum in foundation and plint.	cum	Through Rate	542.75	450.00	2985.12	80.47	240213.00

ltem Code	Description	Unit	Rate Type	Rate	Premium Rate	Total Rate	Quantiy	Amount
14.k.2	14.46-Precase chequered terrazzo tiles 22 mm thick in cement with marble chips of size and colour as required, laid on 20 mm thick bed of cement coarse sand mortar 1:3 with neat cement slurry mixed with pigment to match the shade of tiles between joints and over the base in floors, treads of steps and landings, including rubbing and polishing.	Sqm	Through Rate	138.15	400.00	690.75	804.78	555901.78
11.c.3	11.23First class brick work laid in cement, stone dust (from crusher) mortar 1:5 in foundation and plinth.	cum	Through Rate	427.70	650.00	3207.75	30.63	98253.38
				Total Amo	962054.71			

Copyright © 2019-2021. Directorate of Urban Local Bodies (https://ulbharyana.gov.in). All rights reserved.